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data;

input trt$ genotyp
cards;

I

proc gchart;
vbar y/freq;

hbar x/levels=2;

run;

:Proc plot
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data;

input trt$ genotyp x y;
cards;

’

proc plot;
plot y*x;

run;
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Mean 95% CL Mean | Std Dev | 95% CL Std Dev
8.0000 5.1201 108799 56013 41717 8.5248

data;
input A;
HO0=X1-30;
Datalines;

proc ttest;
var HO;
run;
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data;
input A B;
d=A-B;
cards;
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proc means t prt mean stderr;
var d;

run;
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Data;
Input A B;
Datalines;

proc ttest;
paired A*B;
run;
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data;
input group$
Datalines;

proc ttest;
class group;
var y;

run;

y@ae;
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